BID TABULATIONS

Contract No. DH00217

Project: DH00217_45716.3.1

Replacement of Bridge #79 over Naked Creek on SR 1424 (Jones Spring Church Rd) in Richmond Co.

Bid Opening Date: 12/06/2016 at 2:00 PM

	Ţ				<u> </u>				·		
TTEM NO TTEM QUANTITY UNITS			Smith-Rowe, LLC		Apple Tuck & Associates, Inc.		R. E. Burns & Sons Co., Inc.		Sanford Contractors, Inc.		
HEM NO	MOBILIZATION TIEM	QUANTITY 1	UNITS LS	\$22,000.00	\$22,000.00	UNIT PRICE \$30,000,00	\$30,000.00	UNIT PRICE \$23.000.00	\$23,000.00	UNIT PRICE \$23,450.00	\$23,450.00
2	BRIDGE APPROACH FILL-SUB REGIONAL TIER, STATION -L- STA. 13+70.00	1	LS	\$6,500.00	\$6,500.00	\$6,500.00	\$6,500.00	\$6,500.00	\$6,500.00	\$6,500.00	\$6,500.00
3	GRADING	1	LS	\$53,000.00	\$53,000.00	\$63,000.00	\$63,000.00	\$53,000.00	\$53,000.00	\$53,000.00	\$53,000.00
4	SUPPLEMENTARY CLEARING & GRUBBING	1	ACR	\$75.00	\$75.00	\$75.00	\$75.00	\$1.00	\$1.00	\$75.00	\$75.00
5	FOUNDATION CONDITIONING MATERIAL, MINOR STRUCTURES	10	TON	\$25.00	\$250.00	\$25.00	\$250.00	\$25.00	\$250.00	\$25.00	\$250.00
6	FOUNDATION COND. GEOTEXTILE	10	SY	\$11.00	\$110.00	\$11.00	\$110.00	\$11.00	\$110.00	\$11.00	\$110.00
7	15" DRAINAGE PIPE	20	LF	\$48.00	\$960.00	\$48.00	\$960.00	\$48.00	\$960.00	\$48.00	\$960.00
8	INCIDENTAL STONE	5	TON	\$64.00	\$320.00	\$54.00	\$270.00	\$54.00	\$270.00	\$54.00	\$270.00
9	INCIDENTAL MILLING	225	SY	\$7.00	\$1,575.00	\$7.00	\$1,575.00	\$7.00	\$1,575.00	\$7.00	\$1,575.00
10	ASPHALT CONC BASE COURSE, TYPE B25.0B	150	TON	\$81.82	\$12,273.00	\$69.00	\$10,350.00	\$69.00	\$10,350.00	\$69.00	\$10,350.00
11	ASPHALT CONC INTERMEDIATE COURSE, TYPE 119.0B	80	TON	\$101.82	\$8,145.60	\$89.00	\$7,120.00	\$89.00	\$7,120.00	\$89.00	\$7,120.00
12	ASPHALT CONC SURFACE COURSE, TYPE SF9.5A	160	TON	\$104.82	\$16,771.20	\$92.00	\$14,720.00	\$92.00	\$14,720.00	\$92.00	\$14,720.00
13	ASPHALT BINDER FOR PLANT MIX	25	TON	\$410.00	\$10,250.00	\$410.00	\$10,250.00	\$410.00	\$10,250.00	\$410.00	\$10,250.00
14	Right Of Way Markers	8	EA	\$175.00	\$1,400.00	\$300.00	\$2,400.00	\$200.00	\$1,600.00	\$150.00	\$1,200.00
15	MASONARY DRAINAGE STRUCTURE	1	EA	\$1,400.00	\$1,400.00	\$1,400.00	\$1,400.00	\$1,400.00	\$1,400.00	\$1,400.00	\$1,400.00
16	Frame With Two Grates, Std. 840.29	1	EA	\$350.00	\$350.00	\$350.00	\$350.00	\$350.00	\$350.00	\$350.00	\$350.00
17	SHOULDER BERM GUTTER	30	LF	\$100.00	\$3,000.00	\$100.00	\$3,000.00	\$60.00	\$1,800.00	\$30.67	\$920.10
18	STEEL BM GUARDRAIL	50	LF	\$16.00	\$800.00	\$16.00	\$800.00	\$16.00	\$800.00	\$16.00	\$800.00
19	ADDITIONAL GUARDRAIL POSTS	5	EA	\$11.00	\$55.00	\$11.00	\$55.00	\$11.00	\$55.00	\$11.00	\$55.00
20	GUARDRAIL ANCHOR UNITS, TYPE III	4	EA	\$1,500.00	\$6,000.00	\$1,500.00	\$6,000.00	\$1,500.00	\$6,000.00	\$1,500.00	\$6,000.00
21	GUARDRAIL ANCHOR UNITS, TYPE 350	4	EA	\$1,900.00	\$7,600.00	\$1,900.00	\$7,600.00	\$1,900.00	\$7,600.00	\$1,900.00	\$7,600.00
22	RIP RAP, CLASS B	1	TON	\$250.00	\$250.00	\$100.00	\$100.00	\$120.00	\$120.00	\$30.00	\$30.00
23	GEOTEXTILE FOR DRAINAGE	195	SY	\$1.80	\$351.00	\$1.80	\$351.00	\$1.80	\$351.00	\$1.80	\$351.00
24	TEMPORARY TRAFFIC CONTROL	1	LS	\$4,385.00	\$4,385.00	\$4,385.00	\$4,385.00	\$4,385.00	\$4,385.00	\$4,385.00	\$4,385.00
25	THERMOPLASTIC PAVEMENT MARKING LINES (4", 90 MILS)	660	LF	\$2.81	\$1,854.60	\$2.20	\$1,452.00	\$3.45	\$2,277.00	\$2.20	\$1,452.00
26	THERMOPLASTIC PAVEMENT MARKING LINES (4", 120 MILS)	660	LF	\$2.86	\$1,887.60	\$2.25	\$1,485.00	\$3.54	\$2,336.40	\$2.25	\$1,485.00
27	TEMPORARY SILT FENCE	1,065	LF	\$1.75	\$1,863.75	\$1.75	\$1,863.75	\$1.75	\$1,863.75	\$1.75	\$1,863.75
28	STONE FOR EROSION CONTROL, CLASS A	65	TON	\$25.00	\$1,625.00	\$25.00	\$1,625.00	\$20.00	\$1,300.00	\$25.00	\$1,625.00
29	STONE FOR EROSION CONTROL, CLASS B	15	TON	\$25.00	\$375.00	\$25.00	\$375.00	\$25.00	\$375.00	\$25.00	\$375.00
30	SEDIMENT CONTROL STONE	160	TON	\$21.50	\$3,440.00	\$21.50	\$3,440.00	\$21.50	\$3,440.00	\$21.50	\$3,440.00
31	TEMPORARY MULCHING	1	ACR	\$900.00	\$900.00	\$900.00	\$900.00	\$900.00	\$900.00	\$900.00	\$900.00
32	SEED FOR TEMPORARY SEEDING	100	LB	\$2.30	\$230.00	\$2.30	\$230.00	\$2.30	\$230.00	\$2.30	\$230.00
33	FERTILIZER FOR TEMPORARY SEEDING	0.50	TON	\$800.00	\$400.00	\$800.00	\$400.00	\$800.00	\$400.00	\$800.00	\$400.00
34	TEMPORARY SLOPE DRAINS	200	LF	\$4.00	\$800.00	\$4.00	\$800.00	\$3.00	\$600.00	\$4.00	\$800.00
35	SAFETY FENCE	400	LF	\$1.70	\$680.00	\$1.70	\$680.00	\$1.70	\$680.00	\$1.70	\$680.00
36	SILT EXCAVATION	10	CY	\$20.00	\$200.00	\$20.00	\$200.00	\$20.00	\$200.00	\$20.00	\$200.00

DH00217_45716.3.1_RICH Page 1 of 4

					Smith-Rowe, LLC		Apple Tuck & Associates, Inc.		R. E. Burns & Sons Co., Inc.		ntractors, Inc.
ITEM NO		QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID		AMOUNT BID		AMOUNT BID
37	MATTING FOR EROSION CONTROL	6,265	SY	\$0.25	\$1,566.25	\$0.80	\$5,012.00	\$0.80	\$5,012.00	\$0.80	\$5,012.00
38	COIR FIBER MAT	100	SY	\$4.20	\$420.00	\$3.20	\$320.00	\$3.20	\$320.00	\$3.20	\$320.00
39	1/4" HARDWARE CLOTH	565	LF	\$1.80	\$1,017.00	\$1.80	\$1,017.00	\$1.80	\$1,017.00	\$1.80	\$1,017.00
40	COIR FIBER BAFFLE	10	LF	\$14.50	\$145.00	\$14.50	\$145.00	\$14.50	\$145.00	\$14.50	\$145.00
41	SEEDING AND MULCHING	3	ACR	\$900.00	\$2,700.00	\$1,200.00	\$3,600.00	\$1,000.00	\$3,000.00	\$1,200.00	\$3,600.00
42	MOWING	3	ACR	\$25.00	\$75.00	\$75.00	\$225.00	\$10.00	\$30.00	\$75.00	\$225.00
43	SEED FOR REPAIR SEEDING	50	LB	\$3.55	\$177.50	\$3.55	\$177.50	\$3.55	\$177.50	\$3.55	\$177.50
44	FERTILIZER FOR REPAIR SEEDING	0.25	TON	\$1,125.00	\$281.25	\$1,125.00	\$281.25	\$1,125.00	\$281.25	\$1,125.00	\$281.25
45	SEED FOR SUPPLEMENTAL SEEDING	50	LB	\$2.30	\$115.00	\$2.30	\$115.00	\$2.30	\$115.00	\$2.30	\$115.00
46	FERTILIZER TOPDRESSING	0.75	TON	\$800.00	\$600.00	\$800.00	\$600.00	\$800.00	\$600.00	\$800.00	\$600.00
47	SPECIALIZED HAND MOWING	10	MHR	\$18.00	\$180.00	\$18.00	\$180.00	\$10.00	\$100.00	\$18.00	\$180.00
48	RESPONSE FOR EROSION CONTROL	13	EA	\$1.00	\$13.00	\$100.00	\$1,300.00	\$1.00	\$13.00	\$1.00	\$13.00
49	REFORESTATION	1	ACR	\$555.00	\$555.00	\$555.00	\$555.00	\$555.00	\$555.00	\$555.00	\$555.00
50	GENERIC EROSION CONTROL ITEM - CONCRETE WASHOUT STRUCTURE	2	EA	\$435.00	\$870.00	\$435.00	\$870.00	\$800.00	\$1,600.00	\$435.00	\$870.00
51	REM OF EX STRUCTURE AT STATION 13+70.00 -L-	1	LS	\$38,325.73	\$38,325.73	\$12,500.00	\$12,500.00	\$28,000.00	\$28,000.00	\$18,537.09	\$18,537.09
52	UNCLASSIFIED STRUCTURE EXCAVATION AT STATION 13+70.00 -L-	1	LS	\$4,650.00	\$4,650.00	\$6,150.00	\$6,150.00	\$5,020.00	\$5,020.00	\$4,650.00	\$4,650.00
53	CLASS A CONCRETE (BRIDGE)	43.60	CY	\$651.96	\$28,425.46	\$800.00	\$34,880.00	\$900.00	\$39,240.00	\$1,452.45	\$63,326.82
54	BRIDGE APPROACH SLABS, STATION -L- 13+70.00	1	LS	\$20,475.00	\$20,475.00	\$18,000.00	\$18,000.00	\$18,000.00	\$18,000.00	\$35,275.85	\$35,275.85
55	REINFORCING STEEL (BRIDGE)	5272	LB	\$1.08	\$5,693.76	\$1.10	\$5,799.20	\$2.00	\$10,544.00	\$0.91	\$4,797.52
56	HP 12X53 STEEL PILES	230	LF	\$58.22	\$13,390.60	\$40.00	\$9,200.00	\$20.00	\$4,600.00	\$28.62	\$6,582.60
57	STEEL PILE POINTS	14	EA	\$200.00	\$2,800.00	\$200.00	\$2,800.00	\$200.00	\$2,800.00	\$107.00	\$1,498.00
58	VERTICAL CONCRETE BARRIER RAIL	140.25	LF	\$103.70	\$14,543.93	\$90.00	\$12,622.50	\$115.00	\$16,128.75	\$207.96	\$29,166.39
59	RIP RAP CLASS II (2'-0" THICK)	295	TON	\$43.00	\$12,685.00	\$43.00	\$12,685.00	\$43.00	\$12,685.00	\$43.00	\$12,685.00
60	GEOTEXTILE FOR DRAINAGE	325	SY	\$1.80	\$585.00	\$1.80	\$585.00	\$1.80	\$585.00	\$1.80	\$585.00
61	ELASTOMERIC BEARINGS	1	LS	\$2,200.00	\$2,200.00	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00	\$2,057.03	\$2,057.03
62	3'-0" X 2'-0" PRESTRESSED CONC CORED SLABS	770	LF	\$157.77	\$121,482.90	\$167.00	\$128,590.00	\$180.00	\$138,600.00	\$142.93	\$110,056.10
63	ASBESTOS ASSESSMENT	1	LS	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
	Dill Mark The Ave				\$447,549.13		\$449,781.20		\$460,837.65		\$469,000.00

Bidder No. 1: Smith-Rowe, LLC

Bidder No. 2: Apple Tuck & Associates, Inc.

Bidder No. 3: R. E. Burns & Sons Co., Inc.

Bidder No. 4: Sanford Contractors, Inc.

Bidder No. 5: Dane Construction, Inc.

Bidder No. 6: Dellinger, Inc.

Bidder No. 7: Country Boy Landscaping, Inc.

Bidder No. 8: Palmetto Infrastructure, Inc.

DH00217_45716.3.1_RICH Page 2 of 4

BID TABULATIONS

Contract No. DH00217

Project: DH00217_45716.3.1

Replacement of Bridge #79 over Naked Creek on SR 1424 (Jones Spring Church Rd) in Richmond Co.

Bid Opening Date: 12/06/2016 at 2:00 PM

		D 0		5.111						
ТТЕМ NO ПТЕМ		UNITS	Dane Cons UNIT PRICE	truction, Inc. AMOUNT BID	Dellin UNIT PRICE	ger, Inc. AMOUNT BID	Country Boy I UNIT PRICE	Landscaping, Inc. AMOUNT BID	Palmetto Infr UNIT PRICE	astructure, Inc. AMOUNT BID
1 MOBILIZATION	1	LS	\$23,575.00	\$23,575.00	\$23,000.00	\$23,000.00	\$24,000.00	\$24,000.00	\$30,000.00	\$30,000.00
2 BRIDGE APPROACH FILL-SUB REGIONAL TIER, STATION -L- STA. 13+70.00	1	LS	\$6,500.00	\$6,500.00	\$7,250.00	\$7,250.00	\$10,000.00	\$10,000.00	\$8,500.00	\$8,500.00
3 GRADING	1	LS	\$59,200.00	\$59,200.00	\$53,000.00	\$53,000.00	\$80,000.00	\$80,000.00	\$40,000.00	\$40,000.00
4 SUPPLEMENTARY CLEARING & GRUBBING	1	ACR	\$75.00	\$75.00	\$75.00	\$75.00	\$0.01	\$0.01	\$1,000.00	\$1,000.00
5 FOUNDATION CONDITIONING MATERIAL, MINOR STRUCTURES	10	TON	\$25.00	\$250.00	\$25.00	\$250.00	\$39.00	\$390.00	\$75.00	\$750.00
6 FOUNDATION COND. GEOTEXTILE	10	SY	\$11.00	\$110.00	\$11.00	\$110.00	\$4.50	\$45.00	\$5.00	\$50.00
7 15" DRAINAGE PIPE	20	LF	\$48.00	\$960.00	\$48.00	\$960.00	\$50.00	\$1,000.00	\$75.00	\$1,500.00
8 INCIDENTAL STONE	5	TON	\$54.00	\$270.00	\$54.00	\$270.00	\$50.00	\$250.00	\$225.00	\$1,125.00
9 INCIDENTAL MILLING	225	SY	\$7.00	\$1,575.00	\$7.00	\$1,575.00	\$22.00	\$4,950.00	\$28.00	\$6,300.00
10 ASPHALT CONC BASE COURSE, TYPE B25.0B	150	TON	\$69.00	\$10,350.00	\$69.00	\$10,350.00	\$69.00	\$10,350.00	\$115.00	\$17,250.00
11 ASPHALT CONC INTERMEDIATE COURSE, TYPE I19.0B	80	TON	\$89.00	\$7,120.00	\$89.00	\$7,120.00	\$89.00	\$7,120.00	\$120.00	\$9,600.00
12 ASPHALT CONC SURFACE COURSE, TYPE SF9.5A	160	TON	\$92.00	\$14,720.00	\$92.00	\$14,720.00	\$92.00	\$14,720.00	\$125.00	\$20,000.00
13 ASPHALT BINDER FOR PLANT MIX	25	TON	\$410.00	\$10,250.00	\$410.00	\$10,250.00	\$410.00	\$10,250.00	\$400.00	\$10,000.00
14 Right Of Way Markers	8	EA	\$215.00	\$1,720.00	\$220.00	\$1,760.00	\$250.00	\$2,000.00	\$200.00	\$1,600.00
15 MASONARY DRAINAGE STRUCTURE	1	EA	\$1,400.00	\$1,400.00	\$1,400.00	\$1,400.00	\$1,500.00	\$1,500.00	\$1,200.00	\$1,200.00
16 Frame With Two Grates, Std. 840.29	1	EA	\$350.00	\$350.00	\$350.00	\$350.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
17 SHOULDER BERM GUTTER	30	LF	\$35.00	\$1,050.00	\$45.00	\$1,350.00	\$105.00	\$3,150.00	\$55.00	\$1,650.00
18 STEEL BM GUARDRAIL	50	LF	\$16.00	\$800.00	\$16.00	\$800.00	\$16.00	\$800.00	\$16.00	\$800.00
19 ADDITIONAL GUARDRAIL POSTS	5	EA	\$11.00	\$55.00	\$11.00	\$55.00	\$11.00	\$55.00	\$11.00	\$55.00
20 GUARDRAIL ANCHOR UNITS, TYPE III	4	EA	\$1,500.00	\$6,000.00	\$1,500.00	\$6,000.00	\$1,500.00	\$6,000.00	\$1,500.00	\$6,000.00
21 GUARDRAIL ANCHOR UNITS, TYPE 350	4	EA	\$1,900.00	\$7,600.00	\$1,900.00	\$7,600.00	\$1,900.00	\$7,600.00	\$1,900.00	\$7,600.00
22 RIP RAP, CLASS B	1	TON	\$230.00	\$230.00	\$45.00	\$45.00	\$50.00	\$50.00	\$225.00	\$225.00
23 GEOTEXTILE FOR DRAINAGE	195	SY	\$1.80	\$351.00	\$1.80	\$351.00	\$2.25	\$438.75	\$5.00	\$975.00
24 TEMPORARY TRAFFIC CONTROL	1	LS	\$4,385.00	\$4,385.00	\$4,390.00	\$4,390.00	\$5,500.00	\$5,500.00	\$4,435.00	\$4,435.00
25 THERMOPLASTIC PAVEMENT MARKING LINES (4", 90 MILS)	660	LF	\$2.49	\$1,643.40	\$3.80	\$2,508.00	\$3.00	\$1,980.00	\$3.75	\$2,475.00
26 THERMOPLASTIC PAVEMENT MARKING LINES (4", 120 MILS)	660	LF	\$2.59	\$1,709.40	\$3.80	\$2,508.00	\$3.10	\$2,046.00	\$3.75	\$2,475.00
27 TEMPORARY SILT FENCE	1,065	LF	\$1.75	\$1,863.75	\$1.80	\$1,917.00	\$0.01	\$10.65	\$2.20	\$2,343.00
28 STONE FOR EROSION CONTROL, CLASS A	65	TON	\$25.00	\$1,625.00	\$25.00	\$1,625.00	\$0.01	\$0.65	\$75.00	\$4,875.00
29 STONE FOR EROSION CONTROL, CLASS B	15	TON	\$25.00	\$375.00	\$25.00	\$375.00	\$0.01	\$0.15	\$75.00	\$1,125.00
30 SEDIMENT CONTROL STONE	160	TON	\$21.50	\$3,440.00	\$22.00	\$3,520.00	\$0.01	\$1.60	\$65.00	\$10,400.00
31 TEMPORARY MULCHING	1	ACR	\$900.00	\$900.00	\$900.00	\$900.00	\$0.01	\$0.01	\$950.00	\$950.00
32 SEED FOR TEMPORARY SEEDING	100	LB	\$2.30	\$230.00	\$2.30	\$230.00	\$0.01	\$1.00	\$6.00	\$600.00
33 FERTILIZER FOR TEMPORARY SEEDING	0.50	TON	\$800.00	\$400.00	\$800.00	\$400.00	\$0.10	\$0.05	\$750.00	\$375.00
34 TEMPORARY SLOPE DRAINS	200	LF	\$4.00	\$800.00	\$4.00	\$800.00	\$0.01	\$2.00	\$14.00	\$2,800.00
35 SAFETY FENCE	400	LF	\$1.70	\$680.00	\$1.70	\$680.00	\$0.01	\$4.00	\$1.75	\$700.00
36 SILT EXCAVATION	10	CY	\$20.00	\$200.00	\$20.00	\$200.00	\$0.01	\$0.10	\$45.00	\$450.00

DH00217_45716.3.1_RICH Page 3 of 4

		Dane Construction, Inc.			Dellinger, Inc.		Country Boy Landscaping, Inc.		Palmetto Infrastructure, Inc.		
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID		AMOUNT BID	UNIT PRICE	AMOUNT BID
37	MATTING FOR EROSION CONTROL	6,265	SY	\$0.80	\$5,012.00	\$0.80	\$5,012.00	\$0.01	\$62.65	\$1.35	\$8,457.75
38	COIR FIBER MAT	100	SY	\$3.20	\$320.00	\$3.20	\$320.00	\$0.01	\$1.00	\$4.00	\$400.00
39	1/4" HARDWARE CLOTH	565	LF	\$1.80	\$1,017.00	\$1.80	\$1,017.00	\$0.01	\$5.65	\$3.00	\$1,695.00
40	COIR FIBER BAFFLE	10	LF	\$14.50	\$145.00	\$15.00	\$150.00	\$0.01	\$0.10	\$12.00	\$120.00
41	SEEDING AND MULCHING	3	ACR	\$1,200.00	\$3,600.00	\$1,200.00	\$3,600.00	\$0.01	\$0.03	\$1,950.00	\$5,850.00
42	MOWING	3	ACR	\$75.00	\$225.00	\$75.00	\$225.00	\$0.01	\$0.03	\$125.00	\$375.00
43	SEED FOR REPAIR SEEDING	50	LB	\$3.55	\$177.50	\$3.60	\$180.00	\$0.01	\$0.50	\$5.00	\$250.00
44	FERTILIZER FOR REPAIR SEEDING	0.25	TON	\$1,125.00	\$281.25	\$1,130.00	\$282.50	\$1.00	\$0.25	\$1,750.00	\$437.50
45	SEED FOR SUPPLEMENTAL SEEDING	50	LB	\$2.30	\$115.00	\$2.30	\$115.00	\$2.00	\$100.00	\$6.00	\$300.00
46	FERTILIZER TOPDRESSING	0.75	TON	\$800.00	\$600.00	\$800.00	\$600.00	\$2,000.00	\$1,500.00	\$2,000.00	\$1,500.00
47	SPECIALIZED HAND MOWING	10	MHR	\$18.00	\$180.00	\$18.00	\$180.00	\$0.01	\$0.10	\$55.00	\$550.00
48	RESPONSE FOR EROSION CONTROL	13	EA	\$1.00	\$13.00	\$1.00	\$13.00	\$0.01	\$0.13	\$200.00	\$2,600.00
49	REFORESTATION	1	ACR	\$555.00	\$555.00	\$560.00	\$560.00	\$0.01	\$0.01	\$10,000.00	\$10,000.00
50	GENERIC EROSION CONTROL ITEM - CONCRETE WASHOUT STRUCTURE	2	EA	\$435.00	\$870.00	\$440.00	\$880.00	\$750.00	\$1,500.00	\$1,000.00	\$2,000.00
51	REM OF EX STRUCTURE AT STATION 13+70.00 -L-	1	LS	\$30,000.00	\$30,000.00	\$10,000.00	\$10,000.00	\$17,000.00	\$17,000.00	\$45,000.00	\$45,000.00
52	UNCLASSIFIED STRUCTURE EXCAVATION AT STATION 13+70.00 -L-	1	LS	\$10,000.00	\$10,000.00	\$4,650.00	\$4,650.00	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00
53	CLASS A CONCRETE (BRIDGE)	43.60	CY	\$1,000.00	\$43,600.00	\$950.00	\$41,420.00	\$1,200.00	\$52,320.00	\$1,000.00	\$43,600.00
54	BRIDGE APPROACH SLABS, STATION -L- 13+70.00	1	LS	\$12,525.00	\$12,525.00	\$22,000.00	\$22,000.00	\$24,000.00	\$24,000.00	\$25,000.00	\$25,000.00
55	REINFORCING STEEL (BRIDGE)	5272	LB	\$1.00	\$5,272.00	\$1.50	\$7,908.00	\$1.10	\$5,799.20	\$2.00	\$10,544.00
56	HP 12X53 STEEL PILES	230	LF	\$52.75	\$12,132.50	\$142.00	\$32,660.00	\$45.00	\$10,350.00	\$75.00	\$17,250.00
57	STEEL PILE POINTS	14	EA	\$225.00	\$3,150.00	\$85.00	\$1,190.00	\$135.00	\$1,890.00	\$250.00	\$3,500.00
58	VERTICAL CONCRETE BARRIER RAIL	140.25	LF	\$108.00	\$15,147.00	\$100.00	\$14,025.00	\$118.00	\$16,549.50	\$95.00	\$13,323.75
59	RIP RAP CLASS II (2'-0" THICK)	295	TON	\$43.00	\$12,685.00	\$43.00	\$12,685.00	\$57.50	\$16,962.50	\$65.00	\$19,175.00
60	GEOTEXTILE FOR DRAINAGE	325	SY	\$1.80	\$585.00	\$1.80	\$585.00	\$2.25	\$731.25	\$6.00	\$1,950.00
61	ELASTOMERIC BEARINGS	1	LS	\$7,420.00	\$7,420.00	\$5,900.00	\$5,900.00	\$2,901.01	\$2,901.01	\$10,000.00	\$10,000.00
62	3'-0" X 2'-0" PRESTRESSED CONC CORED SLABS	770	LF	\$171.00	\$131,670.00	\$178.00	\$137,060.00	\$150.00	\$115,500.00	\$170.00	\$130,900.00
63	ASBESTOS ASSESSMENT	1	LS	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$3,500.00	\$3,500.00
	Pill V 10 HP VIG			•	\$471,559.80	•	\$473,411.50		\$488,888.88	•	\$569,461.00

Bidder No. 1: Smith-Rowe, LLC

Bidder No. 2: Apple Tuck & Associates, Inc.

Bidder No. 3: R. E. Burns & Sons Co., Inc.

Bidder No. 4: Sanford Contractors, Inc.

Bidder No. 5: Dane Construction, Inc.

Bidder No. 6: Dellinger, Inc.

Bidder No. 7: Country Boy Landscaping, Inc.

Bidder No. 8: Palmetto Infrastructure, Inc.

DH00217_45716.3.1_RICH Page 4 of 4